


Tema «I pynmupoBKa MHOXKHATEIICH




3aganne 288
3*(4*5)=3%20=60 (4*5)*3=20%*3=60

4%(3%5)=4*15=60 (3*5)*4=15*4=60

5%(4*3)=5%12=60 (4%3)*5=12*5=60




3aganue 289
2%9%*5=(2*5)*9=10%9=90
4%5%*5=(4*5)*5=20*5=100
S3*3*4=(5%4)*3=20*3=60
8*5%2=(5%2)*8=10*8=80
7*5%6=(5%6)*7=30*7=210
6*5*4=(5*4)*6=20%*6=120




CamocTrosiTepHas padoTra

8%3*5=(8*5)*3=40*3=120
S*T*)=(5%2)*7=10%7=70
4%9%5=(4%5)*9=0(*9=1§()
2*5%)=(2%5)*2=10%2=20
25%6%2=(25%2)*6=50*6=300




JlomalnHee 3aJ1aHue
Y4. cTp. 89 No290

II.T. ctp. 58 Nel23




